

WAKEFIELD-OSSIPEE 43061 X-A005(026)

PROJECT: WAKEFIELD-OSSIPEE

STATE PROJECT NUMBER: 43061

FED. PROJECT NUMBER: X-A005(026)

DATE BIDS OPEN: October 14, 2021, 2:00

SCOPE OF WORK: Pavement preservation of NH 16

COMPLETION DATE: September 09, 2022 **LOCATION:** District 3, Carroll

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: \$3,545,767.14

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$3,545,767.14	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
GORMAN GROUP LLC, THE	\$4,122,957.82	В
200 CHURCH STREET, ALBANY NY 12202		



WAKEFIELD-OSSIPEE 43061 X-A005(026)

					ı	PS&E	3 EASTGAT	ISTRIES, INC. E PARK ROAD IT, NH 03220	200 CHUF	ROUP LLC, THE RCH STREET (, NY 12202
Iten	ı No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		•					1		
202.7	REMOVAL OF GUARDRAIL	LF	6,675.00	\$2.23	\$14,885.25	\$2.00	\$13,350.00	\$2.05	\$13,683.75
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00
203.5561	EAGRT PLATFORM PREFERRED	U	26.00	\$1,483.95	\$38,582.70	\$1,400.00	\$36,400.00	\$1,840.00	\$47,840.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	4.00	\$90.00	\$360.00	\$225.00	\$900.00	\$490.00	\$1,960.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,390.00	\$22.78	\$31,664.20	\$33.00	\$45,870.00	\$33.00	\$45,870.00
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	2,050.00	\$99.36	\$203,688.00	\$110.00	\$225,500.00	\$86.96	\$178,268.00
403.12	HBP-HAND METHOD	TON	27.00	\$178.14	\$4,809.78	\$500.00	\$13,500.00	\$153.00	\$4,131.00
403.16	PAVEMENT JOINT ADHESIVE	LF	33,350.00	\$0.29	\$9,671.50	\$0.60	\$20,010.00	\$0.26	\$8,671.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	8,950.00	\$2.03	\$18,168.50	\$6.00	\$53,700.00	\$5.50	\$49,225.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,200.00	\$4.21	\$5,052.00	\$7.00	\$8,400.00	\$5.15	\$6,180.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	2,250.00	\$6.75	\$15,187.50	\$2.80	\$6,300.00	\$12.00	\$27,000.00
410.753	COVER AGGREGATE	TON	6.00	\$2,320.40	\$13,922.40	\$1,350.00	\$8,100.00	\$3,000.00	\$18,000.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	3,500.00	\$79.14	\$276,990.00	\$103.00	\$360,500.00	\$81.84	\$286,440.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	28,200.00	\$1.80	\$50,760.00	\$2.50	\$70,500.00	\$2.60	\$73,320.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	100.00	\$18.89	\$1,889.00	\$50.00	\$5,000.00	\$13.00	\$1,300.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,700.00	\$2.80	\$10,360.00	\$3.00	\$11,100.00	\$3.10	\$11,470.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	12,050.00	\$2.62	\$31,571.00	\$2.15	\$25,907.50	\$1.65	\$19,882.50
417.412	RUMBLE STRIPS, 12" WIDE	LF	15,750.00	\$0.75	\$11,812.50	\$0.25	\$3,937.50	\$0.38	\$5,985.00
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	38,650.00	\$0.63	\$24,349.50	\$0.70	\$27,055.00	\$0.51	\$19,711.50
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	54,350.00	\$1.86	\$101,091.00	\$2.74	\$148,919.00	\$2.50	\$135,875.00
419.13	BONDED WEARING COURSE, TYPE C	TON	8,950.00	\$130.99	\$1,172,360.50	\$130.00	\$1,163,500.00	\$138.38	\$1,238,501.00
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	52,750.00	\$2.75	\$145,062.50	\$2.15	\$113,412.50	\$2.65	\$139,787.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	96.00	\$93.12	\$8,939.52	\$181.00	\$17,376.00	\$155.00	\$14,880.00
604.0007	POLYETHYLENE LINER	EA	12.00	\$166.58	\$1,998.96	\$150.00	\$1,800.00	\$150.00	\$1,800.00

Thursday, October 14, 2021



WAKEFIELD-OSSIPEE 43061 X-A005(026)

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	200 CHL	GROUP LLC, THE IRCH STREET IY, NY 12202
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	12.00	\$453.02	\$5,436.24	\$650.00	\$7,800.00	\$550.00	\$6,600.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$503.87	\$1,007.74	\$650.00	\$1,300.00	\$550.00	\$1,100.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	75.00	\$11.60	\$870.00	\$20.00	\$1,500.00	\$22.50	\$1,687.50
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	24.00	\$3,336.10	\$80,066.40	\$3,850.00	\$92,400.00	\$4,100.00	\$98,400.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$3,791.25	\$7,582.50	\$3,850.00	\$7,700.00	\$4,100.00	\$8,200.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$1,164.98	\$1,164.98	\$1,350.00	\$1,350.00	\$1,550.00	\$1,550.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	4,975.00	\$32.60	\$162,185.00	\$30.00	\$149,250.00	\$33.00	\$164,175.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	1,100.00	\$8.67	\$9,537.00	\$10.00	\$11,000.00	\$5.50	\$6,050.00
615.0201	TRAFFIC SIGN TYPE B	SF	45.50	\$85.80	\$3,903.90	\$115.00	\$5,232.50	\$35.00	\$1,592.50
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	24.50	\$281.50	\$6,896.75	\$500.00	\$12,250.00	\$168.00	\$4,116.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	3.00	\$150.00	\$450.00	\$425.00	\$1,275.00	\$250.00	\$750.00
615.0301	TRAFFIC SIGN TYPE C	SF	210.75	\$44.87	\$9,456.35	\$113.00	\$23,814.75	\$49.00	\$10,326.75
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	31.00	\$30.00	\$930.00	\$210.00	\$6,510.00	\$31.00	\$961.00
615.0501	TRAFFIC SIGN TYPE BB	SF	25.42	\$15.00	\$381.30	\$20.00	\$508.40	\$16.00	\$406.72
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$50.00	\$100.00	\$70.00	\$140.00	\$250.00	\$500.00
615.0601	TRAFFIC SIGN TYPE CC	SF	43.93	\$15.65	\$687.50	\$18.00	\$790.74	\$50.00	\$2,196.50
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	7.00	\$13.00	\$91.00	\$65.00	\$455.00	\$250.00	\$1,750.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	73,500.00	\$1.00	\$73,500.00	\$1.00	\$73,500.00	\$1.00	\$73,500.00
618.7	FLAGGERS	HR	1,680.00	\$38.00	\$63,840.00	\$45.00	\$75,600.00	\$53.00	\$89,040.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$290,000.00	\$290,000.00	\$157,000.00	\$157,000.00	\$498,500.00	\$498,500.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,147.68	\$4,295.36	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$5.33	\$373.10	\$7.50	\$525.00	\$6.20	\$434.00
621.31	SINGLE DELINEATOR WITH POST	EA	57.00	\$51.21	\$2,918.97	\$55.00	\$3,135.00	\$55.00	\$3,135.00
621.32	DOUBLE DELINEATOR WITH POST	EA	17.00	\$57.57	\$978.69	\$60.00	\$1,020.00	\$55.00	\$935.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	714,700.00	\$0.21	\$150,087.00	\$0.19	\$135,793.00	\$0.23	\$164,381.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	1,520.00	\$1.70	\$2,584.00	\$0.80	\$1,216.00	\$1.40	\$2,128.00



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				PS&E Unit Price Total		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		GORMAN GROUP LLC, THE 200 CHURCH STREET ALBANY, NY 12202	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
32.1108	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 8" LINE	LF	210.00	\$3.00	\$630.00	\$1.60	\$336.00	\$9.46	\$1,986.60
32.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	340.00	\$3.74	\$1,271.60	\$3.60	\$1,224.00	\$15.00	\$5,100.00
32.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,815.00	\$1.74	\$3,158.10	\$2.00	\$3,630.00	\$1.00	\$1,815.00
32.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	210.00	\$2.80	\$588.00	\$3.00	\$630.00	\$2.00	\$420.00
32.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	265.00	\$5.10	\$1,351.50	\$8.00	\$2,120.00	\$5.00	\$1,325.00
32.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	95.00	\$10.03	\$952.85	\$10.00	\$950.00	\$6.00	\$570.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	930.00	\$8.92	\$8,295.60	\$10.00	\$9,300.00	\$7.00	\$6,510.00
32.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	175,820.00	\$0.35	\$61,537.00	\$0.35	\$61,537.00	\$0.50	\$87,910.00
32.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	290.00	\$2.76	\$800.40	\$2.00	\$580.00	\$3.00	\$870.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,045.00	\$2.89	\$3,020.05	\$2.00	\$2,090.00	\$3.00	\$3,135.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,785.00	\$4.67	\$13,005.95	\$5.00	\$13,925.00	\$10.00	\$27,850.00
645.531	SILT FENCE	LF	2,785.00	\$3.07	\$8,549.95	\$1.75	\$4,873.75	\$6.00	\$16,710.00
645.611	BONDED FIBER MATRIX (BFM)	LB	4,225.00	\$1.30	\$5,492.50	\$1.45	\$6,126.25	\$4.00	\$16,900.0
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	6,045.00	\$1.72	\$10,397.40	\$0.45	\$2,720.25	\$3.00	\$18,135.00
647.1	HUMUS	CY	568.00	\$25.00	\$14,200.00	\$25.00	\$14,200.00	\$30.00	\$17,040.00
677.42013	RWIS SUB-SYSTEM EQUIPMENT	U	1.00	\$5,000.00	\$5,000.00	\$8,950.00	\$8,950.00	\$3,000.00	\$3,000.00
692.	MOBILIZATION	U	1.00	\$203,442.60	\$203,442.60	\$154,987.00	\$154,987.00	\$315,500.00	\$315,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	10,800.00	\$1.00	\$10,800.00	\$1.00	\$10,800.00	\$1.00	\$10,800.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,185.00	\$1.00	\$10,185.00	\$1.00	\$10,185.00	\$1.00	\$10,185.00
	Total				\$3,512,678.59		\$3,545,767.14		\$4,122,957.8

Totals:

\$3,512,678.59

\$3,545,767.14

\$4,122,957.82



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				A-Bide	der	PS8	ŖΕ.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	6,675.00	\$2.00	\$13,350.00	\$2.23	\$14,885.25	(\$1,535.25)
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$1,000.00
203.5561	EAGRT PLATFORM PREFERRED	U	26.00	\$1,400.00	\$36,400.00	\$1,483.95	\$38,582.70	(\$2,182.70)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	4.00	\$225.00	\$900.00	\$90.00	\$360.00	\$540.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,390.00	\$33.00	\$45,870.00	\$22.78	\$31,664.20	\$14,205.80
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	2,050.00	\$110.00	\$225,500.00	\$99.36	\$203,688.00	\$21,812.00
403.12	HBP-HAND METHOD	TON	27.00	\$500.00	\$13,500.00	\$178.14	\$4,809.78	\$8,690.22
403.16	PAVEMENT JOINT ADHESIVE	LF	33,350.00	\$0.60	\$20,010.00	\$0.29	\$9,671.50	\$10,338.50
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	8,950.00	\$6.00	\$53,700.00	\$2.03	\$18,168.50	\$35,531.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,200.00	\$7.00	\$8,400.00	\$4.21	\$5,052.00	\$3,348.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	2,250.00	\$2.80	\$6,300.00	\$6.75	\$15,187.50	(\$8,887.50)
410.753	COVER AGGREGATE	TON	6.00	\$1,350.00	\$8,100.00	\$2,320.40	\$13,922.40	(\$5,822.40)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	3,500.00	\$103.00	\$360,500.00	\$79.14	\$276,990.00	\$83,510.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	28,200.00	\$2.50	\$70,500.00	\$1.80	\$50,760.00	\$19,740.00



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				A-Bid	der	PS	\$E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	100.00	\$50.00	\$5,000.00	\$18.89	\$1,889.00	\$3,111.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,700.00	\$3.00	\$11,100.00	\$2.80	\$10,360.00	\$740.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	12,050.00	\$2.15	\$25,907.50	\$2.62	\$31,571.00	(\$5,663.50)
417.412	RUMBLE STRIPS, 12" WIDE	LF	15,750.00	\$0.25	\$3,937.50	\$0.75	\$11,812.50	(\$7,875.00)
417.4122	RUMBLE STRIPS, 12" WIDE (SINUSOIDAL)	LF	38,650.00	\$0.70	\$27,055.00	\$0.63	\$24,349.50	\$2,705.50
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	54,350.00	\$2.74	\$148,919.00	\$1.86	\$101,091.00	\$47,828.00
419.13	BONDED WEARING COURSE, TYPE C	TON	8,950.00	\$130.00	\$1,163,500.00	\$130.99	\$1,172,360.50	(\$8,860.50)
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	52,750.00	\$2.15	\$113,412.50	\$2.75	\$145,062.50	(\$31,650.00)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	96.00	\$181.00	\$17,376.00	\$93.12	\$8,939.52	\$8,436.48
604.0007	POLYETHYLENE LINER	EA	12.00	\$150.00	\$1,800.00	\$166.58	\$1,998.96	(\$198.96)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	12.00	\$650.00	\$7,800.00	\$453.02	\$5,436.24	\$2,363.76
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	2.00	\$650.00	\$1,300.00	\$503.87	\$1,007.74	\$292.26
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	75.00	\$20.00	\$1,500.00	\$11.60	\$870.00	\$630.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	24.00	\$3,850.00	\$92,400.00	\$3,336.10	\$80,066.40	\$12,333.60
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$3,850.00	\$7,700.00	\$3,791.25	\$7,582.50	\$117.50

Thursday, October 14, 2021 Page 6 of 9



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				A-Bide	der	PS8	λΕ.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$1,350.00	\$1,350.00	\$1,164.98	\$1,164.98	\$185.02
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	4,975.00	\$30.00	\$149,250.00	\$32.60	\$162,185.00	(\$12,935.00)
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	1,100.00	\$10.00	\$11,000.00	\$8.67	\$9,537.00	\$1,463.00
615.0201	TRAFFIC SIGN TYPE B	SF	45.50	\$115.00	\$5,232.50	\$85.80	\$3,903.90	\$1,328.60
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	24.50	\$500.00	\$12,250.00	\$281.50	\$6,896.75	\$5,353.25
615.023	REMOVING TRAFFIC SIGN TYPE B	U	3.00	\$425.00	\$1,275.00	\$150.00	\$450.00	\$825.00
615.0301	TRAFFIC SIGN TYPE C	SF	210.75	\$113.00	\$23,814.75	\$44.87	\$9,456.35	\$14,358.40
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	31.00	\$210.00	\$6,510.00	\$30.00	\$930.00	\$5,580.00
615.0501	TRAFFIC SIGN TYPE BB	SF	25.42	\$20.00	\$508.40	\$15.00	\$381.30	\$127.10
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$70.00	\$140.00	\$50.00	\$100.00	\$40.00
615.0601	TRAFFIC SIGN TYPE CC	SF	43.93	\$18.00	\$790.74	\$15.65	\$687.50	\$103.24
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	7.00	\$65.00	\$455.00	\$13.00	\$91.00	\$364.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	73,500.00	\$1.00	\$73,500.00	\$1.00	\$73,500.00	\$0.00
618.7	FLAGGERS	HR	1,680.00	\$45.00	\$75,600.00	\$38.00	\$63,840.00	\$11,760.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$157,000.00	\$157,000.00	\$290,000.00	\$290,000.00	(\$133,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$2,147.68	\$4,295.36	\$1,704.64

Thursday, October 14, 2021 Page 7 of 9



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				A-Bide	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	70.00	\$7.50	\$525.00	\$5.33	\$373.10	\$151.90
621.31	SINGLE DELINEATOR WITH POST	EA	57.00	\$55.00	\$3,135.00	\$51.21	\$2,918.97	\$216.03
621.32	DOUBLE DELINEATOR WITH POST	EA	17.00	\$60.00	\$1,020.00	\$57.57	\$978.69	\$41.31
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	714,700.00	\$0.19	\$135,793.00	\$0.21	\$150,087.00	(\$14,294.00)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		1,520.00	\$0.80	\$1,216.00	\$1.70	\$2,584.00	(\$1,368.00)
632.1108	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 8" LINE	-	210.00	\$1.60	\$336.00	\$3.00	\$630.00	(\$294.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	340.00	\$3.60	\$1,224.00	\$3.74	\$1,271.60	(\$47.60)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,815.00	\$2.00	\$3,630.00	\$1.74	\$3,158.10	\$471.90
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	210.00	\$3.00	\$630.00	\$2.80	\$588.00	\$42.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	265.00	\$8.00	\$2,120.00	\$5.10	\$1,351.50	\$768.50
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	95.00	\$10.00	\$950.00	\$10.03	\$952.85	(\$2.85)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	930.00	\$10.00	\$9,300.00	\$8.92	\$8,295.60	\$1,004.40
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	175,820.00	\$0.35	\$61,537.00	\$0.35	\$61,537.00	\$0.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	290.00	\$2.00	\$580.00	\$2.76	\$800.40	(\$220.40)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,045.00	\$2.00	\$2,090.00	\$2.89	\$3,020.05	(\$930.05)



WAKEFIELD-OSSIPEE 43061 X-A005(026)

				A-Bide	der	PS8	RE.	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,785.00	\$5.00	\$13,925.00	\$4.67	\$13,005.95	\$919.05
645.531	SILT FENCE	LF	2,785.00	\$1.75	\$4,873.75	\$3.07	\$8,549.95	(\$3,676.20)
645.611	BONDED FIBER MATRIX (BFM)	LB	4,225.00	\$1.45	\$6,126.25	\$1.30	\$5,492.50	\$633.75
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	6,045.00	\$0.45	\$2,720.25	\$1.72	\$10,397.40	(\$7,677.15)
647.1	HUMUS	CY	568.00	\$25.00	\$14,200.00	\$25.00	\$14,200.00	\$0.00
677.42013	RWIS SUB-SYSTEM EQUIPMENT	U	1.00	\$8,950.00	\$8,950.00	\$5,000.00	\$5,000.00	\$3,950.00
692.	MOBILIZATION	U	1.00	\$154,987.00	\$154,987.00	\$203,442.60	\$203,442.60	(\$48,455.60)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	10,800.00	\$1.00	\$10,800.00	\$1.00	\$10,800.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,185.00	\$1.00	\$10,185.00	\$1.00	\$10,185.00	\$0.00

Total: \$3,545,767.14 \$3,512,678.59 \$33,088.55

Thursday, October 14, 2021 Page 9 of 9